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Photo Developing.  Rik usually takes 3 hr more than How long will it take them. working tozether. to
Pe {.'u' does to process a day’s orders at Liberty Place = ‘ ' e '

Photo. If Pear! takes ¢ hir fo process a day's orders, the complete a day’s orders if Pearl can process the
function given by orders alone in 3 hr?
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Products of Rational Expressions To multiply two rational
expressions, multiply numerators and multiply denominators:
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Quotients of Rational Expressions For any rational expressions
A/Band C/D. with B, C. D # 0,

( To divide two rational expressions, multiply by the reciprocal of the
divisor. We often say that we “invert and multiply.”™)
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Vertical Asymptotes
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